j
Make a précls of the followlng passage and suggest a suitable tltle

The present-day industrial establishment is a great distance removed from that of the
last century or even of twenty-five years ago. This improvement has been the result of
a variety of forces— government standards and factory inspection: general
technological and architectural advance by substituting machine power for heavy or

repetiive manual, labour, the need- to compete for a labour force: and union
intervention to improve working conditions in addition to wages and Hours.

However, except where the improvement contributed to increased productivity, the
- effort to make more pleasant has had to support a large burden of proof. It was
permissible to seek the elimination of hazardous, unsanitary, unhealthful, or otherwise
objectionable conditions of work. The speedup might be resisted-to a point. But the
test ‘was not what was agreeable but what was unhealthful or, at a minimum,

excessively fatiguing. The trend toward increased leisure is not reprehensible, but we
 resist vigorously the notion that a man should work less hard on the job. Here older
attitudes are involved. We are gravely suspicious of any tendency to expand less than
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68 English (Grammar & Composition)

the maximum effort, for this has long been a prime economic virtue.

In strict logic there is as much to be said for making work pleasant and agreeable as
for shortening Hours. On the whole it is probably as important for a wage-eamer to
have pleasant, working conditions as a pleasant home. To a degree, he can escape
the latter but not the former— though no doubt the line between an agreeable tempo

and what is flagrant feather-bedding is difficult to draw. |

Moreover, it is a commonplace of the industrial scene that the dreariest and most

burdensome tasks, requiring as they do a minimum of thought and skill frequently
-have the largest number of takers. The solution to this problem lies, as we shall see |
presently, in driving up the supply of crude manpower at the bottom of the ladder.
Nonetheless the basic paint remains, the case for more leisure is not stronger on
purely prima facie grounds than the case for making labour-time itself more agreeabie.
The test, it is worth repeating, is not the effect on productivity. It is not seriously
argued that the shorter work week increases productnvnty— those men produce more
in fewer Hours than they would in more. Rather it is whether fewer Hours are always
to be preferred to more but pleasant ones. (CSS 1976)

Scanned with CamScanner


https://v3.camscanner.com/user/download

/0 Lb( WM//j Is

ﬂ"/w{m‘ /Jr /3 aZ[aM lo yeme yemom wwuwlﬁwr

o _malee e enviraen

,f ’YM' ¢ L\é Aww’ldm-eg

: tSJ_ / -lMl—&_Z MM waylu‘ja m&lm‘t\

('lu/&[MoZL/S.

0

l‘[ora@ w ody s IS : | B
e  jnolestiial dwdvpnwt__/ws sveliezl W is
anqdhu H/ww{h hwfwmahm @_f el e
s i phiinis laJ;m; T lrnprov.:o/ wm//u\);s’ | ot
| Qﬂl/framm»f ha/) yesuddod i atjmmtac/ p/Loob,zotl _g,..—

mnd:,u clve Qy Lo, Hewever,

de,,-r!_
' oty _L__‘é H
eMWfS ,Ifay erﬂ,(,{ﬁ s, W 7

'S Cuvwol,wd tha /t'Yemozx‘f‘ & cortgpltC. wyfua

Howeret, The ww/wt( &f)Wrmme[ o 69 el

nlegg&ycuf éaQQ/ émw 8o ths eﬂvLIU’A. no

&/@/l Flunke L"f, (eal//u.l //za worla.u{ /)thce Mmeow,{

ﬂf\l OLEJZMJ’W( t9’lf abﬁlcw&/{ f'tl/.)l'( LA mm M 4

gfu bu)’é (M’{ ﬂ\,ou-flbt/‘u,() a.ct(wﬁ{ jb‘fb(ac, Lt-é“—ll,[,q

‘ﬂoL )’erowM- el bé’ WtLLAQrJ af q-ﬂbusnu

X.U/LO ﬂMﬂe He nobion gzt (eusua tine

belween LUJ’YIG/{N hevr 1L010[4 (E’VS "lg’ocw-d

Fhead) W C"j{ O/eﬁuww(' zuwlanj e,nww

Scanned with CamScanner


https://v3.camscanner.com/user/download

